PART NUMBER: 34641461
34641473

L
LUND PRODUCT: Terrain HX Nerf Step

Installation Instructions

I-Sheet Number THX06

APPLICATION: 99-15 Ford Super Duty

Parts Included: Qty
Driver’s Side step 1

Passenger side step 1

Hardware Pack:

3/8” x 1 %" Carriage bolts 12

3/8” washer 12

5/16” bolts 12

Tinnerman clips 12

NOTE: If vehicle is equipped with factory running boards, remove boards and factory fasteners.

Step 1: Lund Nerf-Steps are manufactured specifically for driver and passenger sides. The bent
tube goes to the front of the vehicle.

Step 2: Starting with the driver’s side, open both doors and hold the Nerf-Step to the
underside of the vehicle. The oval holes in the Nerf-Step bracket will align with the factory
holes on the bottom pinch weld of the truck. Not all holes in the pinch-weld will be used.

Step 3: Locate the holes for the clips where it lines up with the upper holes in the bracket.
Place clips into position.

Step 4: There are 2" round upper mounting holes on Superduty brackets. Place the bolts for
the clips in these holes and finger tighten.

Step 5: Using the 3/8” x 1 2" carriage bolts provided, insert from the outside and attach the
flat washer and nut. Leave loose though the oval hole in the bkt. Once all six bolts have been
inserted, hold the font of the Nerf-Step firmly against the body and tighten the front bolt. Now
move to the rear of the Nerf-Step and hold the step level so the gap is even along the entire
Nerf-Step, and tighten the rear bolt. You may then tighten all the remaining bolts @ 18-22 Ibs.

4325 Hamilton Mill Rd. Ste. 400 | Buford, GA 30518 | 800.241.7219 | lundinternational.com



Piece n?: 34641461
34641473

L)
LUND PRODUIT : Marchepied de protection Terrain HX

: ,e .
Instructions d’installation APPLICATION : Ford Super Duty 1999 & 2015

Fiche-info n® THX06

Pieces incluses : Qté
Marchepied coté conducteur 1
Marchepied coté passager 1

Ensemble des éléments de fixation:

Boulons de carrosserie 9,52 x 38,1 mm (3/8 x 1,5 po) 12

Rondelles 9,52 mm (3/8 po) 12
Boulons 7,94 mm (5/16 po) 12
Agrafes de type Tinnerman 12

REMARQUE : Si le véhicule est équipé de marchepieds d’origine, les retirer.

Etape 1 : Les marchepieds de protection de Lund sont fabriqués spécifiquement pour les cotés
conducteur et passager. Le tube coudé doit étre positionné vers I'avant du véhicule.

Etape 2 : En commengant par le c6té conducteur, ouvrir les deux portiéres et maintenir le
marchepied de protection contre le dessous du véhicule. Les trous ovales du support du
marchepied de protection doivent s’aligner avec les trous d’origine sur I'aréte de bas de caisse
du camion. Tous les trous de I'aréte de bas de caisse ne seront pas utilisés.

Etape 3 : Repérer les trous pour les attaches qui sont alignés avec les trous supérieurs du
support. Mettre les attaches a leur place.

Etape 4 : Les supports du Superduty comportent des trous ronds de fixation supérieurs de
12,7 mm (1/2 po). Enfiler les boulons pour les attaches dans ces trous et serrer a la main.

Etape 5: Utiliser les boulons de carrosserie de 9,52 x 38,1 mm (3/8 x 1,5 po) fournis et les
insérer depuis I’extérieur, puis fixer la rondelle plate et I'écrou. Ne pas serrer le boulon passant
dans le trou ovale du support. Une fois les six boulons insérés, maintenir fermement I'avant du
marchepied de protection contre la carrosserie et serrer le boulon avant. Se déplacer ensuite
vers |'arriere du marchepied de protection et maintenir le marchepied en position horizontale
afin que I’écart soit identique tout au long du marchepied de protection, puis serrer le boulon
arriere. Serrer enfin les boulons restants a un couple compris entre 24 et 30 N/m (18 a 22 Ib/pi).

4325 Hamilton Mill Rd. Ste. 400 | Buford, GA 30518 | 800.241.7219 | lundinternational.com



NUMERO DE PARTE: 34641461
. 34641473
LUND PRODUCTO: Terrain HXNerf Step
Instrucciones de instalacion MODELOS: 99-15Ford Super Duty
I-NUmero de hoja THX06

Piezas incluidas: Cant.
Peldafio del lado del conductor 1
Peldafio del lado del pasajero 1
Paquete de componentes:

Pernos de transporte de 3/8” x 1 4” 12
Arandela de 3/8” 12
Pernos de 5/16” 12
Sujetadores Tinnerman 12

NOTA: Si el vehiculo esta equipado con peldafios de fabrica, quite los peldafios y los tornillos
sujetadores.

Paso 1: Los peldafios Lund Nerf son fabricados especificamente para el lado del conductor y del
pasajero. El tubo curvado va en la parte delantera del vehiculo.

Paso 2: Empezando por el lado del conductor, abra las dos puertas y mantenga el peldafio Nerf en la
parte inferior del vehiculo. Los orificios ovalados en el soporte del peldafio Nerf se alinearan con
los orificios de fabrica en la soldadura por pellizco inferior del camion. No se utilizaran todos los
orificios de la soldadura por pellizco.

Paso 3: Ubique los orificios para los sujetadores donde se alineen con los orificios superiores en
el soporte. Coloque los sujetadores en su posicidn.

Paso 4: Hay orificios de montaje superiores redondos de %" en los soportes Superduty. Coloque
los pernos para los sujetadores en estos orificios y apriete con los dedos.

Paso 5: Con los pernos de transporte de 3/8” x 1 4" proporcionados, inserte desde el exteriory
acople la arandela plana y la tuerca. Deje suelto a través del orificio ovalado en el soporte. Una
vez que los seis pernos se hayan insertado, sostenga la parte delantera del peldafio Nerf
firmemente contra el cuerpo y apriete el perno delantero. Ahora pase a la parte trasera del
peldafio Nerf y mantenga el nivel del peldafio para que la brecha sea uniforme a lo largo de
todo el peldafio Nerf y ajuste el perno trasero. Ahora puede apretar todos los pernos restantes
a18-221b.

4325 Hamilton Mill Rd. Ste. 400 | Buford, GA 30518 | 800.241.7219 | lundinternational.com





